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Read the following passage and answer the questions from 1 to 5.

Motors are devices that convert electrical energy to mechanical energy. Essentially,

/— - . - -
a motor {s a generator operating 1n@. Instead of generating a current by rotating
a loop, a current supplied to the loop causes it to rotate. Useful mechanical work can
be done by attaching the rotating armature to some external device. However, as the

loop rotates in a magnetic field, the changing magnetic flux induces an emf in the

loop; this induced emf always acts to reduce the current in the loop. If this were not

the case, Lenz’s law would be violated. The back emf increases in magnitude as the
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rettinmml apeed of the armature mrrranﬂ.(ﬁ'_hc phrase back emf is used to indicate
un em! thet tends 1o reduce the supplied current.) Because the voltage available to
supphy current equals the difference between the supply voltage and the back emf,
the current in the rotating coil is limited by the back emf.

When a motor is turned on, there is initially no back emf; thus, the current is
very large because it is limited only by the resistance of the coils. As the coils begin to
rotate, the induced back emf opposes the applied voltage, and the current in the coil
i» reduced. If the mechanical load increases, the motor slows down; this causes the
back emf to decrease. This reduction in the back emf increases the current in the coils
and therefore also increases the power needed from the external voltage source.

For this reason, the power requirements for starting a motor and for running
it are greater for heavy load than for light ones. If the motor is allowed to run under
no mechanical load, the back emf reduces the current to a value just large enough to
overcome energy losses due to internal energy and friction.

If a very heavy load jams the motor so that it cannot rotate, the lack of a back
emf can lead to dangerously high current in the motor’s wire. If the problem is not
corrected, a fire could result.

1. tierard) Regaeerh i w9 s 7
(1) Terh Ry frgaware Fafor wt
(2) Terien fagasETe g
(3) e &7 fmin w0
(4) s 33t g
What is the role of a battery for a motor ?
J,lf)’ To generate a current by rotating a loop
(2) To supply current to the loop
(3) To generate a magnetic field
(4) To supply mechanical energy
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2. W g Rgemem Tee 1 am 7
(1) I Wew=n an agal
(2) IR Mewie frgavam wi A
(3) R Jugwm wifyw @t Fmfn w@
(4) R wewan fed vhwm wl fa

Why is back emf important in a motor ?
(1) It increases the speed of the motor
(2) It reduces the current in the motor
(3) It generates useful mechanical work
(4) It reduces the torque of the motor

3. WA I FAR [Agavam gearden qu @e 1 et ?
(1) Fron Frer R gy Ao 3w
(2) RO AHEH YR G TRA el
(3) N JATEN WTHR GU IR A
(4) R0 geardten wear foeames Tw@a

Why is the current initially very large when a motor is turned on ?

(1) Because the back emf is very strong

(2) Because the mechanical load is very heavy

(3) Because the resistance of the coils is very high
(4) Because there is initially no back emf

4. g1 Hierdidia Fifs YR ared!, Jeg1 aran fgamme 19 g ?
(1) 9 7@ Ted
(2) d aed
(3) a i g
(4) T AR FEE gfomm g e
What happens to the back emf, when the mechanical load on the motor increases ?
(1) It remains the same
(2) Itincreases
{3) It decreases
(4) It has no effect on the motor
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What can happen if a heavy load is given on a running motor ?
(1) The back emf increases
(2) The motor continues to operate normally

(3) The lack of back emf can lead to dangerously high current
(4) The motor stops working
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Read the following passage and answer the questions 6 to 10.

Gialileo did not excel in the skill of preparing or reconstructing star-charts.
However  he focused his binoculars towards the skies and offered a natural explanation
of what could be seen. This is what made his astronomy revolutionary. The result
was that man disappeared from the moon and was replaced by mountains. However,
eventually his astronomy became dangerous, because it shook the premises about
the world which were so taken for granted by the powerful classes and the church
which served them. This could potentially challenge the entire social structure. Any
person who dared to do this, had to accept the risk therein.

Science is not just a collection of experimental information. Any given experiment
18 not considered as great, unless it offers a conclusive solution to a controversial
theory. Similarly, unless it offers a plausible explanation to perplexing experimental
data; or it helps predict the conclusions of an experiment which has not yet been done,
the said theory is not considered as a great leap forward. If one wishes to see the tight-
knit interrelationships between science and production; between the ascendance of
new capitalism and the era of local discoveries, one has to study the trajectories along
which the center of science in Europe has shifted. Leeuwenhoek, a gatekeeper in Delft,
sharpened the lens he was using and created the first good microscope out of it. He
used it to observe droplets of water and the small microbes therein. The Royal Society
of London sent its secretary to meet Leeuwenhoek, and published his research articles.
This very society had earlier published Ready’s writings against the school of ‘Arbitrary
Creation’, which eventually helped to solve the very real problem of food-stock. The
idea of giving the credit of an invention to its first author is a comparatively new idea.
Even Newton was averse to the idea of bringing his inventions into the limelight. The
tendency of hiding valuable secrets in the form of monopoly is even more deep rooted
as one travels back in the past. The process changes because of the social nature of
production, however, the tools of production are privately owned and hence, patents,

guilds and monopoly are insisted upon at the level of technique and production
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6. W IaTyrEEa [Eeth) W faum fftaed w2 7
(1) szmvia tom Seede Radarard &M HOnr dgTgss mufay st wa T
A2 =4 R genur STt @ o o
(3) fagmma wrifhe wifkdten @=g T@a@ S
(4) weherh wewm ayfe A

Which of the following statements holds true according to the passage ?

(1) Royal Society of London refused to publish the research articles written
by a gatekeeper named Leeuwenhoek

(2) Church served the powerful classes

(3) Science does not include a store of experimental information
(4) The idea of copyright is modern

7. A IATAHER V&2 d Feheu=l AR TR STt HROT
(1) fasmm srdm oar 3a T
(2) IETEATE FIUA WIerht ATehIE AT
(3) Uaa drmadt 9eee ar=aat <d
44) TR FreuE e Hifgde wsdte firesd

According to the passage, patent and copyright are insisted upon because
(1) One cannot take any risk in science

(2) Tools of production are privately owned
(3) Royal Society approves the patents
(4) They offer an explanation for perplexing data

8. TEH=AI HaER @ fagma faey wewmn Ft awen s
(1) = it Aifgdi=n g=a Fqa)
() S IFiF F3 TT
(3) T hISATd YIS WifgdE Tievl firesd
(4) @ Taa G 7 Bl

When is a theory considered as very important, according to the author ?
(1) It does not contain experimental data
(2) It changes the centre of science
(3) It offers an explanation to perplexing data
(4) It is accepted in the Royal Society
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9. e wiermea WS ® 3% A 7
(1) TN FHEN WEA Aq T
(2) e fxdtaromge SxETEn qv@E T gen
(3) = wnfas andfavk &
(4) @U@ N e RSN TETEA HoH TS el ahe
Why did the astronomy of Galileo become dangerous ?
(1) He could not prepare star charts

(2) His observations were responsible for disappearance of man from the moon
(3) He offered a natural interpretation

(4) He challenged the axioms about the world which the powerful took
for granted

10. 1 JATIHER AGHEHA A FA ?
(1) = Frsamgy F=Ee! svae
(2) wafe guTeIaEde Uews e
(3) Seogd SHATen fagra wigen
(4) T g ane frsa= Fyw &
According to this passage, what did Leeuwenhoek do ?
(1) He created a food reserve out of small microbes

(2) He supported the established social system
(3) He proposed the theory of arbitrary creation
(4) He sharpened the lens and observed small microbes
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areRraa (N), ¥ (X = C, Br, 1) ¥. 3w, st a@qia sopmed agags 49 ‘- * 378 goifae wmm
. CH,, frlamed ys wragha nfr skt v wwegqa ¥ @), (structure of methane)
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>C =0 B H1 I
H Ili H
I _ I
(i) JeEnf®w e, — Cc = o 3nfr = wgTEn AfeEETEE (H—-C=08rR —C=0)

|
wgoRTR, WM (i) R 2, >C = O nfn = wgmen $F (R, —C = R, where

OH
|
R, = Ry or R, # R,) 3@ Rviam. HTaifye e 3 gagiediet e U FF4 — C = O, Fraradia
OH OH
I I
Prew iz AR v 3nfor aaR B wgTen Eifers 3me (H —C = O and R—C = 0)
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0]
Il Il
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H

I
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1 R T AfCsETedie SR e S /e Sl FevraTd, A ST A e
‘3’ 3 wEma 3G TS CH 10, ToE RWed T et e e s e ferd reorama,
I e Frgiea1 T Y9 TR Y FAW. T AR A1 ARSI VT e Hie
o HQTAR Ao TRad B I&. T CH,,0¢ 2 T4 IFcSreasie 31 g 3.

CHO
I
HO— C — H
I
HO— C —H CHO

I I
H—C—OH OR (HO—C — H),

H— C —OH CH,OH
| LEISEIRSCE)
CH,OH
HAar w=E

WA AEA e, MM e Sqred1 AN Y9 I B T A et R
A O e &7 i w sramfufea s a1 (Sh S o SeTen qegeren v e
e fafay e Sreeen ) IR, TF AT g @u ] vl w S s
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wfafafesfon, vam yfaa vem anema aim oo fasg fwn asseama/ ghEed Ham.
H O

N\
(
|
HO — C*— H
I
CH,OH
fremardinee

=n e o wfafafasfoarh @wn 20 (GE n = FEE B @ pefe @), e g
" W3 e fum wrea awph oA, w1 angdhra fafau e T smor=E s
e wagdt, o wn v fnare e AaREE wvEE.

Read the following passage and answer the questions 16 to 20.

Many organic compounds contain carbon (C), hydrogen (H), oxygen (O);
and some of them also have additional elements such as nitrogen (N), halogens
(X = Cl, Br. ) etc. The bond /s between the atoms in organic compounds are covalent,
and arc indicated by a ‘' - ’; eg. in methane, CH,, each hydrogen and carbon has a
single covalent bond.

Organic chemistry is also called the chemistry of functional groups (an
atom or group of atoms that confers specific characteristics to that compound)
eg. the functional group (FG) is hydroxyl, — O — H and the compounds formed
are alcohols (R-O-H) where - R is alkyl group (—R is — C_H,,,, and ‘n’ is the
number of carbon atoms). The FG carbonyl > C = O has two arrangements:

H H H

l
(i) aldehydic, — C = O the compound is aldehyde (H—(!_: = Qor R _(!_: = 0)

O
_ Il
and (ii) ketonic, >C = O and the compound is ketone (R, —C = R, Where
R, = R, or R, # R;). The combination of carbonyl group with hydroxyl group
OH

gives — C = O i.e. carboxyl functional group, and the compounds formed are
OH OH

I
carboxylic acids (H —C = O and R —C = 0). Carboxylic acids react with
alcohols in presence of concentrated H,SO, yields esters, whose general formula is
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(H—C —ORor R—C —OlehereOR = R, or R # R,). The characteristic

properties of esters are because of — C — O — functional group.
Bodies of living organisms contain large number of different biomolecules eg.
O H O
I l
carbohydrates, proteins (contain —C — N —), lipids (contain —C — O —) etc.
which constitute their structure, and are also part of various physiological processes
taking place in them. Thus, hydrogen forms only one, oxygen forms only two, nitrogen
forms only three, and carbon forms only four covalent bonds.

Though most of carbohydrates are represented by a general formula Cx(Hzo)y
i.e. hydrates of carbon, they are chemically polyhydroxy aldehydes (or ketones)
eg. C¢gH,,0g is either glucose or fructose or galactose. They cannot be hydrolyzed
further, hence are called monosaccharides. Disaccharides eg. sucrose, C;,H5,0,,
on hydrolysis (using one H,0O) yields two molecules of monosaccharides: glucose
and fructose. Trisaccharides eg. raffinose, C,3H;,0,, on hydrolysis (using two H,0)
yields three monosaccharides one unit of each: glucose, fructose and galactose.
Polysaccharide eg. starch, (CgH,;,Og) , is a common ingredient of food grain, on
hydrolysis yields a very large number of units of glucose.

Monosaccharide with an aldehydic carbonyl group is called aldose, and their
names will have suffix ‘ose’ eg. Mannose, C¢H,,0¢. While that with a ketonic
carbonyl group is called ketose, and their some names end with ‘ulose’. These names
are further modified in accordance with the total number of carbon atoms in the
monosaccharide eg. Mannose, CgH,,0¢ can also be called aldohexose.

CHO
I
HO— C—H
I
HO— C —H CHO

I I
H—C—OH OR (HO—C — H),

H— C —O0OH CH,OH
| Structure of mannose
CH,OH
Structure of mannose
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The smallest aldose, and the only one whose name does not end in “ose”, ig
glyceraldehyde. It has a chiral center or has an asymmetric carbon* atom (a carbon
atom bonded to four different atoms or groups). A molecule with a chiral center has
a pair of enantiomers which are related to each other as object and its mirror image,
Each isomer of this pair rotates the plane polarized light in equal magnitude but in
opposite directions.

H O
/
4
|
HO — C*— H

|
CH,OH

Glyceraldehyde
This property (optical activity) is shown only by those organic compounds which
have a chiral center. One can arrive at the number of optical isomers using the
relation 2", where n is the number of chiral centers. The molecules having the same
molecular formula but different structures are called isomers. If the isomers carry
different functional groups, they are called functional isomers, and the phenomenon
is called functional isomerism.
CH,
, |
16. 31 H —C — OH ®Nd C,4(H,0),?
I

ﬁ—OH
0

(1) FCSES, TF FEich A1 (2) TUREERT TR, UH FEEH AR

(3) fRigrES, T FEics IR (4) T FreEteEs T

CH,4
|
The compound H _C — OH i.e. C3(H,0); is

C— OH

]

(0
(1) Aldotriose, a carbohydrate (2) Dihydroxy triose, a carbohydrate
(3) Ketotriose, a carbohydrate (4) Not a carbohydrate
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17. &1 ‘A’ A Tl 3G (H H,0 aI9eq) dr qhfRdia 3 7601 T TqH T, T

TN TH AN I el T T B, WA’ BRI,
(1) C4H440,, (2) Cp4H4g024
(3) CpqH4s04, (4)  Cp4H40020

The compound ‘A’ undergoes hydrolysis (Using three H,0) under appropriate
conditions to form a unit of glucose, a unit of fructose and two units of
galactose. The molecular formula of the compound ‘A’ is

(1) C24H44022 (2) C24H43024
(3)  C24H420,: (4) Cp4H40020

18. m%ﬂaﬁﬁaﬁ;mwh@wmgl‘w = Fradla AgE IR 7
(lfﬁzon H—C =0
|
C =0 (Ho_(l:_H)4

|

(HO—C— H); CH,OH
I

CH,OH
(1) A 3 B & S Tt Sfafafasiia anga
(2) A 3nfr B & s whishe framors e gugt aea
(3) A anfr B & uewi=h wfefefesfa anfor Srarens e awgh anga
(4) A 3for B @ Yt sfafafasia it anfor frareres we awgdid ifga

Which of the following option is correct about compounds A and B ?
A B
CIH20H H—C =0
|
C =0 (Ho—(l:—- H),
|
(HO—C— H); CH,OH
I

CH,OH
(1) A and B are only optical isomers of each other
(2) A and B are only functional isomers of each other
(3) A and B are optical as well as functional isomers of each other

(4) A and B are neither optical nor functional isomers of each other
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(IJH20H
C =0
| . :
19. (HO— C— H), &1 IR anfr wra fafifeReen _ Siee anga.
CH,OH
(1) frRwa, 4 (2) frRdle, 8 (3) oceRwE™, 4 (4) IcSRTEM, 8
?HZOH
CcC =0
|
The compound (HO— C — H); is a and has pairs
of optical isomers. |
CH,OH

(1) Ketohexose, 4 (2) Ketohexose, 8 (3) Aldohexose, 4 (4) Aldohexose, 8

20. QAT Fordt gy wwnf Srmfoa graade ?

RN
X -
H—C —OH H—C—Cl (l:
I l
(I:HQ CH, CH; —C —OH
l
CH, H
A B C

(1) TFRMANMMB (2) FRWAFNC (3) FRBHM C (4) @
Which of the following compounds will show optical activity ?

| I N
H—C —OH H—Cc—Cl (.l‘,
I |
(I:Hz CH, CHj —(II — OH
CH, H
A B C
(1) Only A and B (2) Only Aand C
(3) OnlyBandC (4) All of the above
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TTEl™ 3T ATYE WL . 21 AN, . 28 WIWw.

WA HBTa T THRA TE41, FE2, WPEA1 A Mefores qaed, snfds aea a v
A= 33 e~ vkl el o M we) R, FER, A A A waed,
S e & Tt A 23R T GO A g Hravar e G AT 39 .
AT W FNHATE T WIATE SHiTeh T AT HAEA A ABTA Yob SFEOT] T AR
I STaean 5 < 7 L ST ST, AT . s ke e 4 T
A HrTESEn AT AR s arga s, Frawn yaoma areren ard ffia g e fan
waoTa It - I s = .
mm,wmw,mm,mwﬁmmm-mm
IO Y&IYTE (51 R0 AR qdua.

It T T4 AT AU T, AT I T FAE S 9d Tdegead
Frfem wom IR, sy o Sl S=ITen A e sl sfieer 39 srEegd . sraEn fade
IR, T T Mfaed v Frand FeEam g T8 6, Sdegaey TRIE Jee 3.

HA ARG . FIN HOTA AT HAT ¢ ST ATGHER SUSOATE IRIa1 a1 Tfeed! AT,
forgron yaR 3 ATESE ST oA Ao R T e Feedine SAEEEETEd ISRHGETS! ST
TR FETSTEAT M7 Y8et 3R, B T Gt 3796 alt el ATt g1 WInTd e faeg T80 9dg
w0, & Yot TR S e fre F e 3 i frem 3. 7o faitie srEmEg
ot o s s s gt S ) ) Forrd S
wfe1 &1 HE AgA foieu srauETaT TRt Faded 3.
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Read the following passage and answer the questions 21 to 25:

In the post-independence period, the national government made the anti-caste
campaign a part of its state policy, through propaganda, laws, educational concessions
to backward castes, financial aid and reserved jobs. The efforts of the national
government to destroy the caste system by providing propaganda, laws, financial
assistance to the backward castes and reserved jobs have continued unabated.
When India ranks high among the leading democracies of the world, it cannot be
acceptable to discriminate between people based on birth in a nation that is the
cradle of democracy. Since the basic principles of democracy are against the caste
system, it came to pass that the caste system cannot continue in democratic India.
The efforts made by the government in this regard have been very successful and the
rate of education among the backward castes is increasing. To the extent that the

lower castes become educated, the distance between the castes will dissolve.

We will try to analyze whether the caste system survives in India today or not on
the basis of the following factors. Existence of caste system depends on the following
qualifying factors. (1) Determination of prestige by birth, (2) Prohibition of choice of
profession, (3) Prohibition of exogamy, (4) Discrimination between castes in social,

political and religious rights, (5) Superiority of the Brahmin caste.

The vitality of the castes can be imagined from their existence in the society.
Therefore, on the basis of these five aspects, let us now discuss the existence of the
caste system. According to the scholars of caste system, the caste system has been
eradicated. Today, a person'’s reputation does not depend on the caste he is born into.
Freedom of choice of occupation has been granted to everyone by the Constitution
itself. The social superiority of Brahmins has always been usurped from them. From
all these things it is not a problem to draw a conclusion that the caste system has
almost been destroyed.
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Freedom of choice of profession has been granted to everyone by the constitution
itself. It is no longer possible to force the child of the matangas to remain a matanga.
It is no longer possible to decide which occupation one should do according to caste.
The spread of education and the educational and financial concessions given to the
backward castes have forced the society to adopt a liberal policy towards business.
Although this is true, some castes prefer to stick to their traditional ocwpaﬁons.
This is also a fact. A person takes two things into consideration while choosing any
business, profit earned and the social status acquired through the business. According
to Davies, the prestige of any social place depends on the importance of the occupation

that the place has to offer.

21. Grefie TR Ho e g @
D) mmmmmmmwmmm
[ICR ORI
7(2) Yewra fatdia aur ® Yvaa faeEe 9w T
(3)  wREer T TGS ST e i Aed A WeTe ot Fvar Hew B
(4) mmﬁmmm

Which of the following statements is not true ?

(1) Increased level of education among the socially backward sections helps

to bring the social equality

(2) A society without discrimination is not a principle of sustainable
development

(3) Provisions in the Indian Constitution and government policies help to -

reduce caste discrimination

(4) The basic principle of democracy is against caste system
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22. GEiTYH FoR Rum et am 7
N, I favwa T } Waren R A o,
fl. TR frewan ) T 5T geEe ween daftre e g 3@ .
%, Wi wa W | el are deiat 3T IR, We WRdE FEId Tt

SEEN Qi JeEed 9 AT,
(1) A, qFH
1(2) ¥, ¥
(3) A, ®

(4) H P T

Which of the following statements is correct ?
A. Absence of social inequality is a sign of development of India.
B. Educational development among backward elements is not important to
reduce social disparity.
C. Indian society stands on the boundaries of class and caste, so the caste
system has not been completely abolished in Indian society.

(1) A,B,C
(2) A,B
(3) A,C

(4) None of the above

23. Sdtsraen HfREK v Tefeth o e g @ 2
(1) S=r=an MR Jqo granfies wfass
(2) FER F F AT v fwa I
(3) wmtforek, Torh anfor sfies rftreri=an Sredta JEumT 9EaTE
(4) =gaEE fads @ @

Which of the following statement is not true for existence of caste system ?
(1) Social status based on birth
(2) Doership is an important issue for caste system instead of birth
(3) Favoritism towards socio-political and economic authorities
(4) Lack of freedom of choice of occupation
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24. Grefta feumATEn fmm +0

K 2w 7 Soreard s T wfesar wn v g feviean syeamETEAn
TETSR HaEgd .

¥, g g FEE & IR g 3 et it sreee frsurd amiies
wiersat aren fomm st Fa arEar.

(1) TR = faum g o A faym= @ Fro am

(2) FHH S faum g g A faumr 9 Fro T

3) fowm y¥Ww, ag&

(4) foum o1 9%, T X

Consider the following statements :

A. According to Davies, the prestige of any social position depends on the
importance of the business assigned to that position.

B. While choosing a business, a person thinks about the financial gain
from that business and the social prestige gained by the business.

(1) Both of the above statements are true and B is the reason for statement A

(2) Both of the above statements are true and B is not the reason for statement A

(3) Statement A is correct, B is false

(4) Statement A is false, B is correct

25. Grefie HIvM faum g a7
A =aan faden @ T -Jmfid Yewre FH gvarg wed g,
3 SauH Fasvarear IqrEdare] uremen fawm fsemen yar st amfas - anfis

AT HZHT o= daediqs 8 AR,
3. mﬁmmmﬁmuﬁwamﬁ%ﬁmMWﬁmm.
(1) 3, (2) &, F (3) 1,9 4) =fawd

Which of the following statements is true ?
A. Freedom of choice of occupation helps in reducing caste discrimination.

B. Development of the liberal policy of choosing occupations is due to the
spread of education and concessions to the socio-economically backward

sections.
C. Social and religious prestige has no influence on career choice.
(1) A, C (2) B,C (3) AB (4) All of the above
eedl HIWTETS SIRT / SPACE FOR ROUGH WORK P.T.O.
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WTFTE 3T °TeE ¥, %, 26 AW, . 30 & R e Iw .

1908 et it fikg Tarrars R reg: e 3 TRV T 31 g
IehTen Aen. U V@ wren o w@re i vl s wawiva $n rev fsm s afeer; b
I MRA TRV ST Tt e et At defie T Tgurst R Ao an deta Tt rev
IV B, 7 Rewh fierin wos @ wren it g9 o i at ft freseoma’ R e
mmwm?ﬁaﬁmtﬁﬂmﬁwa mﬁ%aﬁf&aﬂ%‘amaﬂawmﬁvﬁaw
meﬁﬁmmmm@wmﬁaaﬁwmmm
o= fagiame Jdia fdunme g I e SR HIE TETIqT 3 AT g3 3.
iR e e deTE Tedt Y AT AT shidien gt gEardisl 3
I TR ; ATV AT ST GISYUET FE Yl SN TawTaeshreaT Afegiiiies Fyaia @i
HAd T41 HE FQEUT] HEHIENS AT HE1 R 8 e, g g e,

FHA @ T 1 Aefifaves deEgy WOeen ot aiemr . 3 o
HiegaTe) -eARAaTdivda e vl gt sgugs Rad anfn yede siwf Y ufed 1w
TR A (TR e gfira sufn Bt STl Yiea TaRTaTel SR Tt Shrisn v T
A fiee . e Bhem Fem e, sesH efera gt e nfr A i
& TI=IgUl WaTE AR, WA de@ My §F et S fraor SEmarm feriad @
ﬁﬁmﬁmm-m HEFt 37T e IV AT fiqamTe SiETIHET 39S . ﬁmmaanﬁ
g A 7 R e, . FATde Ao ST ST A et e I,
TR T faga 2 i firgid 8. @t Rese Riqamms vedi™ fRvewo s i asafeeg
weontt AT, ff T YR s favewer S i wd S T WY .
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Read the following passage and answer the Q. No. 26 to Q. No. 30.

After Gandhi’s comment on Hind Swaraj in 1908, the meaning of self-rule and
self-determination continued and clarified. Once it was meant as independence or
self governed country of the Indian people as a developed country; If many people
understand India to be an international government, here ‘self’ means India and in
this context, Swaraj means independence of India as a nation. In the Hind Swaraj,
the difference is not expected only Kale Saheb instead of Gore Saheb. Gandhi would
have seen the all-round emancipation of the Indian people. According to Gandhi’s
opinion, every village would have to enjoy Swaraj or self-government; Though the roar
of Lokmanya Tilak ‘Swaraj is my birthright and I will got it,’ spread the concept of
Swaraj all over India. But Gandhi gave it a detailed, philosophic meaning. The method
of understanding self-determination was interpreted in the Hind Swaraj. However,
each use of this method starts a discussion like the earlier century. There were many
contradictions within Gandhi’s own theory and in some incidents of his behavior led
to many objections. Gandhi’s soft policy on criticisms of capitalism, caste system
and religious practices were based on reality. Gandhi’s base method of thoughts of
Swaraj was useful the beginning line for the rethinking of democratic revolution; we
can follow this statement and the experience of last century the meaning of Swaraj
has evolved into an all-inclusive freedom which is continuously making new orbit.

In the agricultural struggle ‘Kasel Tyachi Zameen’ Swaraj got classified
measurements. Here the full rainbow of ideologies from Gandhian to Marxist-Leninist
is visible and the differences within each! The struggle of Indian democracy still
discusses on the freedom of the landless, poor farm worker and unorganized workers
and policies of it. Swaraj of the outcaste or Dalit and low-caste got central position
in Indian political programme. Gandhiji’s Harijan Welfare Plan, Ambedkar’s Dalit
Mukti Plan and combining the basic elements of both with the government’s policy
of reservation has brought another innovative flow in the social transformation of
contemporary India. The Swaraj concept for women was originated from the women’s
education programme started in freedom movement by Gandhiji. In the last three
decades, the Indian women'’s movement has given a new height to the commentary on
Indian democracy. It exposed the patriarchal dimensions of social structure, culture
and the day today behaviour. Apart from this, the new principle of dominance and
liberty was to formulated. So far, the methods of the unknown dominant ways the
society have been suggested. In this way, a feminist theory would be a social theory.
It is not only the analysing patriarchal system and does not fight against the state.
It analyses all types of dominance and searches freedom in all fields.
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26. T TN FHCYN Wieferteh! v v qaray gl ?

W, TS MER SO AgEE
JB. Aea Rew @’ @ hed MR qEE!.

K weren mfsf wm d wea aftre faraga e

(1) & 3 i« (2) wF & T 3

(3) W W, NI A ¥, 9, F Mg

Which of the following factor/s are included in the concept of ‘Swaraj’ ?
A. Method of understanding self-determination.

B. Every village should experience self-government.

C. Lokmanya Tilak spread the concept of ‘Swaraj’ all over the India.
D. Mahatma Gandhi elaborated the concept of ‘Swaraj’.

(1) Only A and B (2) Only B and D

(3) Only B, Cand D (4) A,B,CandD

27. TS TheUell Gieiterieh! HImyd S aRmmr anter/ame ?
4. ‘FOd = S gewldia wel.
3. YRHY ArhImEET 7.
(1) e & T & (2) wHaw
(3) wE 37 anfor % (4) ®FaE, & AMNE

In which of the following categories did the ‘Swaraj’ concept get classified
measurements ?

A. Mahatma Gandhi’s ‘Harijan Welfare Plan’.

B. Struggle for Kasel Tyachi Zameen’.

C. Dr. Ambedkar’s ‘Dalit Mukti Plan’.

D. Struggle of Indian Democracy.

(1) OnlyBandC (2) Only B

(3) OnlyAandC (4) Only B, C and D
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28. vaTem TR s T arefetd Soen vesen soedl o faee s 7
N wRER wEm s
v Zhm qeh s
J e fbm efam @
P I L R e
(1) @ 3w w (2) W w nfon g
(3) N, w &g (4) ¥ A, ¥ Afn &
Which of the following factor/s has got central position in the political
programme of the India ?
A. Harijan Welfare Plan
B. Dalit Mukti Plan
C. Swaraj of outcaste and Dalits

D. Swaraj of lower castes

(1) Only Aand C (2) OnlyBand D

(3) A,B,CandD (4) OnlyA,BandC
29. TN FORN GTHH W Aed) At =aws Fel ?

N, e 9293

¥, WSS REdard) 939

%. Wdfawas 9zaac

T. muﬁamammmmﬁ

(1) a8, sas (2) FF A, T FNF

(3) $F T, &AM S (4) S A, F S

In which of the following factor/s did the Indian Democracy become more
widespread ?

A. Feminist Movement

B. Social Reformist Movement

C. Agricultural Movement

D. Unorganized Sector Workers Movement

(1) A,B,CandD (2) OnlyA,Band C

(3) OnlyB,CandD (4) OnlyA,Cand D
WU WHTATS WP / SPACE FOR ROUGH WORK P.T.O.
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30. @O FHCNTNE WAt I 9T Sl
N @ Sadns v A fsmla e,
v S gwesn vt s gatfton g aurE g,

(1) ¥, %qm VIR E (3) ¥, zdm™ (4) ®, 83

In respect of ‘Swaraj’ concept identify the correct factors among the following.
A. Due to ‘Swaraj’ Movement Indian Democracy Developed.

B. ‘Swaraj’ concept includes all round liberation of the Indian people.

C. Only self-rule includes in the ‘Swaraj’ concept.

D. Only self-determination includes in the ‘Swaraj’ concept.

(1) A,Ccorrect (2) A,Bcorrect (3) B,Dcorrect (4) C, D correct

WA IA AT 4T Ra 9. %. 31 A 9. . 35 <t 3w faen.

WRAta referaerh fRmd

et Q9 78 FHfIS- 19 wEmTR S sreferaedTd) s feft sk, wantean A g,
[EST- AREEa AYa, N T IgTST WIaaTe e Ul AN 9 et 3R, &
HTEFA TS AT W THRA TGS FHAT e 3T ATIR &1 TS I AR
9 I Tagy FdFaey g et faaroamrdt srfsraen @an w1, 9w feen am.

S AT € 2020-21 7R AT i e Freamw ad 2021-22 A W IR
T[S @ IAEH 9.2 % A Ted. IETFA ¢ WK B ), Hfyg FoheHm T MU TTER qeIera
I 3. T el 3 cifaam ), S STadel TR Ha S w g TR Tk R
st qiom 2020-21 79 sreferarers Quf erad) e STENET FH TEe 3R,

ARt Infor Fera et HRA AEmn gftony wafd FH ofden 3R, ¥ 2021-22 TR 3.9% @
qew It e IR, AN TTe e I WU 2020-21 HA 3.6% THEl Bl. IS ST,
I (W ST SN UEA) TR ged 916 2021-22 7R 11.8% 3 81, i 2020-21 1)
7 TFRA Teet A, a1 ST, fadiva: aeeE Jueh Jum=n S, FRA1 wemHREn gatfues wfege gitom
I 3R, ? 85 7 e auid 8.2% TUA T1ee 31 e AR, A e 9¥f 8.4% I HIHA B,

@A Wala Focq wia IEATS 2021-22 TE TH IN 7% I I 3T I IR,
a9 yEng gfaw aie al eie e R vyisew ffifd S meriigdien it e o,
T anfor &a fafa svEEeTRiie 2021-22 T Y6 FTel TR, HIA SWiaitd QU gEREAHR §

A FEgeA fondt @ s<9 ufeam2 smamad arest IR,
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Read the following passage and answer the questions from 31 to 35.
State of the Indian Economy

The last two years have been difficult for the world economy on account of the
COVID-19 pandemic. Repeated waves of infection, supply-chain disruptions and
more recently, inflation have created particularly challenging times for policy making.
Faced with these challenges, the Government of India’s immediate response was a
bouquet of safety nets to cushion the impact on vulnerable sections of society and the
business sector. It next pushed through a significant increase in capital expenditure on
infrastructure to build back medium-term demand as well as aggressively implemented
supply side measures to prepare the economy for a sustained long-term expansion.

Advance estimates suggest that the Indian economy is expected to witness real
GDP expansion of 9.2 per cent in 2021-22 after contraction in it in 2020-21. This
implies that overall economic activities have recovered past the pre-pandemic levels.
Almost all indicators show that the economic impact of the “second wave” in Q1 was
much smaller than that experienced during the full lockdown phase in 2020-21 even
though the health impact was more severe.

Agriculture and allied sectors have been least impacted by the pandemic and
the sector is expected to grow by 3.9 per cent in 2021-22 after growing at 3.6 per cent
in the previous year. Advance estimates suggest that the GVA of Industry (including
mining and construction) will rise by 11.8 per cent in 2021-22 after contracting by
7 per cent in 2020-21. The service sector has been hit the hardest by the pandemic;
especially segments that involve human contact. This sector is estimated to grow by
8.2 per cent this financial year following last year’s 8.4 per cent contraction.

Total consumption is estimated to have grown by 7 per cent in 2021-22 with
significant contributions from government spending. Similarly, Gross Fixed Capital
Formation exceeded pre-pandemic levels on the back of ramped up public expenditure
on infrastructure. Exports of both goods and services have been exceptionally strong
so far in 2021-22, but imports also recovered strongly with recovery in domestic

demand as well as higher international commodity prices.

31. garv fAfvadia Gt S w5 3= vef amg ?

(1) wEnier we g (2) 3T — TGS ITSUS
(3) wEaEER 4) =ba ad
Which of the following have created challenging times for policy-making ?
(1) Repeated waves of infection (2) Supply - chain disruptions
(3) Inflation (4) All of the above
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32. isrEEd AEICiH AT WIUCATEE ST TR HUR I a7
F g wigaeht @Erd Hid a8
. TEAWEHTCH Tl qEERE A,
A& JEE W I HTHEH FAEEAE,

wrefietd i gaty e,
(1) % N (2) wF W
(3) e 4) A, &, F

Which measures have been implemented by the government of India to prepare
the economy for a sustained long-term expansion ?

A. Bouquet of safety-nets to vulnerable sections of society and business
sector.

B. Significant increase in capital expenditure on infrastructure.

C. To build back medium-term demand.

D. Aggressively implemented supply-side measures.

Choose the correct option.

(1) Only A (2) OnlyB

(3) Aand B (4) A,B,CandD

33. IS TTEE, € 2020-21 WA ki I o FeEa , 9 2021-22 HE
IRA T WA ITEH 9.2% A e, I 3 3w i,

JA) T anfie ser o verer 3a e
A42) w4 frgei® gifaara 1, ge=n ae=n aieen fordide snfife afom &7 2020-21

el ot TredNE FH B,
(3) dfgen @weA IR Erediet TRemT WSt g
(4) (1) 3o (2)

Advance estimates suggest that the Indian economy is expected to witness

real GDP expansion of 9.2 per cent in 2021-22 after contracting in 2020-21.

This implies that

(1) Overall economic activity has recovered past the pre-pandemic levels.

(2) Almost all indicators show that the economic impact of the “second wave”
in Q1 was much smaller than full lockdown phase in 2020-21.

(3) The impact on health sector was not severe during first wave.

(4) (1) and (2)
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34. 9§ 2021-22 TE RATHA HIVRA IAGH & Il FEAH et 7
(1) ¥R nfr v &
(2) e (@ToTRT YT WU YE) &
(3) @ &=
(4) == w
In the year 2021-22, which productive sector of India will show the better
performance ?
(1) Agriculture and allied sectors
(2) Industry (including mining and construction)
(3) Service sector
(4) All the above

35. T 2021-22 TR TH ITINT 7% I IS IET IS 1R HI,
(1) T et e Amen
(2) HRAT wEmKigd FHremig v fRR wsaa fAffd sfts
(3) =& 3nfr dar fata 2021-22 79 FgERTHRET Y693
(4) =0« &4
Total consumption is estimated to grow by 7 per cent in 2021-22 because
of
(1) Significant contributions from government spending
(2) Gross Fixed Capital Formation exceeded pre-pandemic levels

(3) Exports of both goods and services have been exceptionally strong
(4) All the above

&I IAT AT 9. 3. 36 AW, F. 40 <RI wn.
‘e qataor sga”
WA ShHEI SIS F1ed 3R, 1999 HEl ™M 6 A= <O JATSET. HETUATET STEMS
T Gu T aTeen AR, (3T, 25 X e qvEET AW 250 Wi gy 7 v aween AR).
TR Jeaftatiel S HerAE JUITClieR qIv_31Te 3 ST SnTfish SR 3 gaieReiiy aed Hgd
IR AR,

i. 1900 =1 YA AT STBBTAT50%, 1950 1 GUHMA 40% M1 2000 =T THIA 30%
TR FHI IS I 87 BN, TS TSI, FRARE TIEH Fed IR, A R A
TR, AT 9 qeel! AR, TAWHA TR TaTE FH Fen AR, YIS FH A IR IS
Th1 T TR
IETIA M AHTET Tl AR,
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iii. O HE=TSM YHTA 1R
iv. Mo FE0 3 ygEEn T AR,
v. UUEs Ff w1 @A anf Reesarsren Avme 913,

vi. R suRrem awren 3w @R AT R T sfeerds, aeR 3 AfFaTde anfr 3@
WT T WP W freea amia SR I WiSE; e W, Ifas aeE A s
TREN YT wamE i fa am.

wdae qfom @ ghaeme dfieie wEE 35 AEBIR UF d9HHaTE IWTE SR,

glayedia Iwm & aw e @gm afiE w1 gEvEEE O Foedn Al e JrErdE
I, T GRS YSYH /I / TS T Afus IagR .

Read the following passage and answer the questions 36 to 40.
‘‘Global Environmental Changes’’

Human population has been growing rapidly. It has crossed 6 billion mark
in 1999. Per capita consumption of resources has increased to many times
(e.g. 25 litres of fresh water to 250 litres/day). This has strained in life supporting
system of earth and brought about a number of environmental changes on a global
scale.

i. Forest cover of the world was 50% of land area in the decade of 1900, 40% of land
in the decade of 1950s and less than 30% in the decade of 2000. It has resulted
in increased desertification, irregular rainfall, more floods, increased soil erosion,
loss of perrenial flow in rivers, reduced ground water and therefore, increased
drought.

ii. More and more people are migrating to towns and cities. There is rise in the number
of slums and consequently, an increase in filth and pollution.

iii. Increase in quantity of solid wastes.

iv. Rise in industrial wastes and pollutants.

Increased passage of fertilizers and pesticides in water bodies and food chains.

vi. High rate of consumption of fossil fuels is adding CO,, SO, and a number of other
gases and chemicals into the atmosphere causing acid rain, ozone depletion, global
warming and frequent foggy weather.

Green House Effect is a warming effect found in a green house by allowing solar
radiations to pass in, but preventing long wave heat radiations to pass out due to
glass panes, water vapours and carbon dioxide. Because of it, green houses are used
for growing tropical plants in temperate areas. Green house warm up is similar to the
inside of a car parked in the sun for an hour or so. Dusty/humid/cloudy nights are
warmer due to this phenomenon.

<
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36. JMW 2000 41 T IR et STt v @ 7
(1) 50% Y& IRA (2) 60% 3w R
(3) ww 30% (4) 30% Um Fft
How much forest cover of the world was of land area in decade of 2000 ?
(1) More than 50% (2) More than 60%
(3) 30% only (4) Less than 30%

37. 1999 §eht A Seae B 7
(1) 4 s (2) 5 asw (3) 6 = (4) 3 F=A

How much was the human population in 1999 ?

(1) 4 billion (2) S billion (3) 6 billion (4) 3 billion

$8. SIS SITATSAT FTENR HIV Hehe IXEA HRA 7
A IRafE wiRmm
B. ¥¥d e AR
K. @A
D. IT&® Jea AR
Feh FIva fum /fum st ama 7
(1) A%E - (2) A, Ca3nfrD
(3) A 3nfr B e (4) A, Banftr D

Deforestation in the world has resulted in which calamities ?
A. Irregular rainfall

B. Increased ground water

C. Desertification

D. Increased drought

Which of the statement given above is/are correct ?

(1) Aonly (2) A, CandD
(3) A and B only (4) A,BandD
oSl SIS I / SPACE FOR ROUGH WORK P.T.O.
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39. REmw SyaTem AT I54 YR HIU QERUM A 7
A AT TS
A, s ww
£. =B @WEA
P AN YHye &
e Fi fRFum /e stet ama 7
(1) A% (2) A 3nfor B wed
(3) A, BamfID (4) A, BamfrC
High rate of consumption of fossil fuel resulted in which effects ?
A. Acid rain
B. Ozone depletion
C. Clean weather
D. Frequent foggy weather
Which of the statement given above is/are correct ?
(1) Aonly (2) A and B only
(3) A,BandD (4) A,BandC

40. wlag TRUIM RN T ? AYEH SCEE SV O TROTHHRE HRA ?
A, w1 glapgmed axfRieta war 33 3R T aEHaTe S 3R,
B et I T ar QAN T heted] HICSAT ITie WITERE! 3.
C.. SHREST Wi IwERdeiy ared! Srefavarard! siaeET ar e .

FheYeh! v faum /fau™ stew amga 7
(1) A% (2) AMMTB®E (3) A, BafTD 44 A, B,C3nfiD

What is green house effect ? And what are the reasons for climate change ?

A. It is warming effect found in green house by allowing solar radiation to
pass in.

B. Green house warm up is similar to the inside of car parked in the sun
for an hour.

C. Green houses are used for growing tropical plants in temperate areas.

D. Green house effects causes warmer nights.

Which of the statement given is/are correct ?

(1) Aonly (2) AandBonly (3) A,Band D 4 A,B,CandD
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Read the following passage carefully and answer the Q. No. 41 to Q. No. 48,

On top of nuclear war, in the coming decades humankind will face a new
existential threat that hardly registered on thcrpnl_i_ti_g;n,l_mau_@: ecologicg|
collapse. Humans are destabilising the global biosphere on multiple fronts. We are
taking more and more resources out of the environment, while pumping back into it

enormous quantities of waste and poison, thereby changing the composition of the
soil, the water and the atmosphere.

We are hardly even aware of thin which we disrupt the delicate
ecological balance that has been shaped over millions of years. Consider, for example,
the use of phosphorus as a fertiliser. In small quantities it is an essential nutrient for
the growth of plants. But in excessive amounts it becomes toxic. Modern industrial
farming is based on artificially fertilising the fields with plenty of phosphorus, but
the high-phosphorus run-off from the farms subsequently poisons rivers, lakes and
oceans, with a devastating impact on marine life. A farmer growing corn in lowa might
thus inadvertently kill fish in the Gulf of Mexico.

As a result of such activities, habitats are degraded, animals and plants are
becoming extinct, and entire ecosystems such as the Australian Great Barrier Reef
and the Amazon rainforest might be destroyed. For thousands of years Homo sapiens
behaved as an ecological serial killer; now it is morphing into an ecological mass
murderer. If we continue with our present course it will cause not just the _

'gf_ a large percentage of all life forms, but it might also sap the foundations of human
civilisation.

Most threatening of all is the prospect of climate change. Humans have been
around for hundreds of thousands of years, and have survived numerous ice ages
and warm spells. However, agriculture, cities and complex societies_have existed
for no more than 10,000 years. During this period, known as th Earth’s
climate has been relatively stable. Any deviation from Holocene standards will present
human societies with enormous challenges they never encountered before. It will be
like conducting an open-ended experiment on billions of human guinea pigs. Even if
human civilisation eventually adapts to the new conditions, who knows how many
victims might perish in the process of adaptation.

41. Which threat was not recognized by global politicians during the second half
of the 20" Century ?

(1) Nuclear war threat

(2) Ecological destruction

(3) Threat of degradation of human life
(4) None of the above
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42. What is the reason of destructive effects on sea life, according to the passage ?

(1)

Use of artificial nutrients

(2) Over use of natural resources

(3) Excessive use of phosphorus in farming that gets washed into sea, rivers
and make them toxic

(4) Nuclear Testing

43. Which of the following statements are true in the context of the given passage ?

a. Human beings fully know that they are causing ecological imbalance
_J¥. During Holocene period, climate was stable
2 Modern industrial farming is based on overuse of phosphorus

%

Amazon rain forest will not get destroyed irrespective of man'’s

disruptive activities

(1) aandb (2) bandd (3) bandc (4) onlyb
44. Match the following.
A B

a. exist I. be faced with
b. enormous - II. large number of something
c. encounter III. complete destruction
d. annihilation IV. survive
e. myriad B V. extremely large

a b c d e
(1) I I m v Vv
(2) mr 11 I v Vv

B IV V 1 I oI
41 m v I Vv

45. Choose the most appropriate option :
Modern man has turned into

) guinea pig to do experiment on

, according to the writer.

(2) an ecological mass murderer
(3) an ecological serial killer
g} both an ecological serial killer and mass murderer

Hoeg1 HINTETS AT / SPACE FOR ROUGH WORK

D

CamScanner


https://v3.camscanner.com/user/download

m 37 R17

W™ IO ATRA N . 46 AW . 50 HImw.
“sraTasga afteen”
yare fesrem ardiard( 23 3m dfwm A 25 3 Afeww ZogH ATEE FEwEE IR, R
AHH Ls_;igﬁ%muwﬂmm(@mfﬁ;mmmmg&ammm

. VOB wew ffvm sea e @@ gun 30 3w I A 30 30 ZfHw oda w9 B @ @

mmmmmmmm.m@mmmm
yors W Raaren srvar smka. e gata Jwe Fww fyagaEs A@sd, 39 amEaE e
e e v, WS YT (R WA e ) et st
TR TG YR TRV gnte forua wimErd! 18 3w afcaam Y =t ATy 93 grear Jafead
T R

w&mmmmmmmmﬁﬁ@@
WRR AT IS T FIeATge IQED. T e I T aTe S S arame UE groar
IoE e YT PRt AT Geeh TR (AR Rt F) W) S e
i STETATSH SR VTR AT STEUT=n oS AT A= i ST A 15 3w e
anfor st et 13.2 mmm@mmwﬂ@mmm
TR TR e AT G SR I G TR e Tl AT S ST e
(6 Fim) IoFA1 AT AR VAR (19°C ¥ 27°C) W S 3o upoft firesd e gfor ot
iaiwmaagﬂﬁm‘taﬂ__mrgé (20°C ¥ 28°C) VTS AN et iRt fmiur seeh anR.
Fiferren ars wTEg TR AR frsfaa e i wemTrde fagaeda 3w yawEen awa
Fvarereas ferdta fafor e am.
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Read the following passage and answer the questions 46 to 50.
“Coral Reef Ecosystem”

Coral require temperatures between 23°C to 25°C for their growth. The minimum
temperature must not go below 18°C. This temperature requirement restricts their
growth to tropical waters between 30° N and 30° S latitudes away from cold water
currents. The diversity of coral reefs decrease in higher latitudes to about 30° N and
30° S latitudes. North or South of this zone, coral growth does not occur. However,
corals lying in the path of northward moving warm water are an exception to this
rule. The largest concentration occurs near the equator where water temperatures
are highest. The main obstacle to coral growth in low latitudes along the east coast
of oceans (west coast of continents) is the presence of cool water with a temperature

lower than 18°C for at least part of the year.

The exceptional occurrence of small reefs on the north eastern side of the pearl
islands, Gulf of Panama results from a local absence of upwelling, whereas on the
South western side coral growth is inhibited by cool upwelling caused by north easterly
trade winds. Coral growth is locally hindered by summer cool upwelling in parts of
the Somalian coast.

Between the Persian Gulf and the Gulf of Agaba the difference in coral growth
is due to the Shamal, a cold north westerly wind blowing in winter over the northern
part of the Persian Gulf so that temperature in that area is lowered to 15°C and
sometimes to even 13.2°C on the Kuwait reefs. At high latitudes, such as Lord Howe
Island, reef growth results from the East Australian warm current which flows from
the coral sea to the Southern ocean; the Bermuda receive warm water flowing along
the right hand side of the Gulf stream (19°C to 27°C); Southern Japanese Islands are
favoured by the warm Kuroshio current (20°C — 28°C). The exceptional occurrence of
Houtman’s Abrolhas, western Australia results from Leeuwin current which flows
pole wards along this coast and carries warm equatorial pacific water around north

west Australia.
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46. Grehia ¥ Forehl aroraTeh feudt yaTe fReswen adiad st e I 2

(1) aUEH 10°@ A 23° / TAH

A2) aumE 23° & A 25° ¥ G0N
(3) AW 25° A @ 30° ¥ TUAN
(4) @AW 0° A A 10° @ AR
Which of the following temperature conditions is the most favourable for
the growth of coral ?
(1) Temperatures between 10°C to 23°C
(2) Temperatures between 23°C to 25°C
(3) Temperatures between 25°C to 30°C
(4) Temperatures between 0°C to 10°C

47. VG Uftan fFraen Yare weshit Rl e g da & R
(1) wer= ufvaw fF=amerma i Yarg 91gd eI
(2) = T I AT G YT Gewrea Piida eyt P Faa
(3) W= Ui feRTaaTg fgaesig 3w yaTE aTEdt
(4 0« ¥ TR
Along the west coast of continents coral reef formations are not observed because

(1) Prevalence of cool ocean currents flowing along the west coast of
continents

(2) The north-east and south-east trade winds create obstacles in the coral
formation

(3) The equatorial warm current starts from the western coast of the continents

(4) None of the above
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48. T Wrehe ) Forn WA YATS e swaTe Rt G o s 7

o« @ =¥

R g ANeEE
%, e smam
T, amferm R
(1) w& 3 M«
(3) wEa ¥k %

(2) Wea @ Ffor &
(4) @ F M E

Which of the following are the exceptional occurrences of coral reefs in

the world ?

a. Lord Howe Island

b. Houtman'’s Abrolhas
c. Gulf of Guinea

d. Somalian coast

(1) Onlyaandb

(3) Only aandc

(2) Onlybandc
(4) Onlycandd

49. IS P WA TGTS TEHR FEH0 gaifes 3 ?

(1) Resgha st wome
(3) InfR= Faa=n qURt W

(2) ehguTenTa=Al ARRT WRTA
(4) qufrars St ard wrTd

In which part of the world the largest concentration of coral reef occurs ?

(1)
(3) Near the Arctic circle

Near the equatorial waters

Near the tropic of cancer

(2)
(4)

In the temperate region

50. wieha 3 Fvrar gk Va1 e ardien SR AR ?

AR A UEEA
AR S IETeA
IR ST d39aT8

AR HRATF a8

A1)
(2)
(3)
(4)

Which of the following factor is responsible for low coral growth ?

Downwelling of sea water

(1)

(2) Upwelling of sea water
(3) Under current of sea water
(4) Thermohaline current
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81. U® W¥a Wurefta, ‘hope to see you’ 91 @& ‘ re so na di’ 381 3, ‘please cg';e tgd"/go
o . ‘ '
* MNee the party’ &1 m_iﬁ’gﬂ)a ¢t ke zg* 3781 3R, ‘hope to come’ =1 &4 ‘di so ge’

$ 20
| IR A ‘see you the party’ @1 G¥a ‘re fi zo na’ HH T,

w1 Yo anarg ‘please see you W) s wataiy s wba fram,
\ ))«) ke te gm

(2) ba od ke

(3) te ba ke

(4) sute ba

In a certain code language, hope to see you’is coded as ‘re so na di’, ‘please
come to see the party’ is coded as fi ge na di ke zo’, ‘hope to come’ is coded
as ‘di so ge’ and ‘see you the party’ is coded as Te fi zo na’.

Study the coding system used and select the appropriate code for ‘please see you’.
(1) ke te gm

(2) ba od ke

(3) te ba ke

(4) suteba
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52. mmmm.mmmwamiﬁaﬁaﬁvﬂmﬁﬁaﬁ.

N R el T aw Rt @ Reft smda. sl B, G, R a Y pigw Re, R,
T 3 Rrare T R wwam. Reven vataiqs @ feof warh aew feaomt/& e g/
R fem.

(1) ®&a (2) Qﬂ-ﬁl‘(bﬁmc
A3) @ dfFae (4) B e

Study the below triangular card. It is folded along lines and joined to make
a pyramid. Given below are top views of this pyramid. Alphabets B, G, R and
Y represent colours blue, green, red and yellow respectively. Select the odd

top view/s of this pyramid from given options.

G
R
Y
e
(1) Onlya Eltherborc
(3) Eitherdore (4) Only e
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o O\
u.maiw&rmnmmm Jra eyl Wi Seen & wer e e fime
A ¥R, I 3 A IR wEE . B wEr wd wze e gl dewma, i T e
W Awdte @ R ftn A ayEr wd g it AerATeRA @ d Ee A, aatEr

e
@ f TrEn swE W ANFH ' A wen tvssad qwd wf wwn feen s, @ e w
m.ﬁﬁm:n:m%.

ﬁ:ﬂmmmﬁ.ﬁ!&ﬁw.
W ;AR v e, ) R wpErn we T,
0 y

% e st fdym s gafn Pae,
(1) =
2 =

B R
(4) @ 3nfor @ 1 QiR wEHaue T feen

Mo, To and Vo who belong to three different communities, participated in
a dancing competition and one of them won the trophy. They belong to
communities namely Koki, Poki and Toki. All members of Koki community
always make true statements, all members of Poki community always make
untrue statements and all members of Toki community always make true
and untrue statements alternatively. They made following statements when
reporter asked them to comment.

Mo : If Vo had not disturbed me by laughing loudly while dancing I would

have won the trophy. Vo always speaks the truth. Vo is the winner.

Vo : I was not laughing to disturb Mo. To won the trophy.
To : Mo won the trophy. Vo is not the member of Poki community.
Select the option that indicates the person who won the trophy.

(1) Mo
(2) Vo
(3) To

(4) To and Mo have jointly won the trophy
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84. TH XA SUITITSN TH 2R (ST Amva weTey sqEurTE Ry mm
o A RerreEssn wngm awavarn mm Hin ¥R SaEEE
mmmmmmwmmmmama
W SN 75 TS, JeRe, vm g i awedtn wfa, wacn T 29
I & WA N S T gH QA 2 werafa Feange safawaan frm owen
M. T AT R A a waera ey wa A, ;o e e
3w M M aea wdE W el A s 3@, A 2de = i wm gE
m.
mmuﬂag@@_@@mwmm.

(1) wag R R s e Wi st a1 vawrh w1 sor=n gisn SEEEE 9w

H o A

(2) WTEATEN WFW SARATHEA BV F TS Herae Hoamard) MEa gaa Amvm
2 Py ol @eE am

(3) TR wwA W Tvitet werwe FoarEn qvl wvd Ao, FhIA dEAdA T T2AR
ivam

(4) e aff, w TgUa Frden T AT A W AR, FE AR
R OO o B

A group of traders in a certain country has decided to take their whole taluka

‘offshore’ in protest at the insignificant amounts of income tax paid by big

businesses. An association of shopkeepers from the town want to use the

same controversial loopholes favoured by huge multinationals so that they

too can legally avoid this tax. One giant multinational, for example, has been

branded immoral for transferring profits out of the country and into the other

countries, where they receive favourable tax deals. But the shopkeepers of

the town cannot have it both ways. If they believe it is immoral for these

multinationals to avoid country tax, it is immoral for them, too. They should

continue to pay country tax in full.

Select one of the following, that if true, most weakens the above argument.

(1) Small businesses acting alone cannot obtain the same tax breaks as the
giant corporations

(2) The only purpose of the protest is to pressure the government into tackling
tax avoidance by big business

(3) Every time the government comes up with a way of tackling tax avoidance,
lawyers simply find a new loophole

(4) One of the town traders found that last year he paid seven times more
corporation tax than one multinational company
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A 40 Rrandf vt 3efivl -y,

b. 10 fRrameath whian qoi Fehh bt meup & Feficf @ el @@ e

c. ehol wraem frareatsh den gt qof 3 wm=e 5 13 I I,
g el sdten Rrareatsh wwmn sl Rrarealian 4013 9@ am.

(1) a,b

(2) b, c

3) a,d

4) bd

Identify two facts that prove conclusion : ‘Ten students failed the exam’ to be
always true.

Facts :

a. 40 students passed the exam.

b. 10 students did not complete the exam and so neither passed nor
failed.

c. Number of students who failed outnumbered those who did not complete
exam by 5: 1.

d. Number of students who passed outnumbered those who failed by 4 : 1.

(1) a,b
(2 b,c

(3) ad
4) b, d
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56. mmuammmmm.

.l.l

B & I:I e |l @

Select the appropriate image for replacing the question mark in given

relationship.
@S .I
(1) ) n G M @ K

57. W HEE §1 TS ¥ St Fieieh e S Quar S, T St AR g,
s aﬁiﬁﬂﬂﬂ : go — 2-©
TG I 80% F (erer ST AR AACH F1’ A e 80% e
e SRR s T e wRR TRl fEE. 0 e
(1) 9% 20% g}
(2) FH 5%
(3) 20% =T IR
(4) A9H 25%
A referendum was held in the village Nimboli, to determine whether it should
have a library or not. All adult members could vote; all of them either voted in

favour of having library or voted against it, or did not vote at all.

According to the local newspapers :

‘80% of those who voted, voted in favour of having a library’ and ‘80% of the
adult members of the village did not vote for having library in village’.

Select percentage of the adult members of the village voted against having a
library.

(1) Exactly 20%

(2) Exactly 5%

(3) More than 20%

(4) Exactly 25%
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(4) S, SR, e, i, $g We e ety weul, ad, gy, Wi, 1T,
ﬁ,m,ﬁmwmmmﬂ@ﬁmwﬁ.

Rala (Italian Millet), Sava (Little Millet), Harik (Vargu), Varai (Barnyard Millet) are
rich in amino acids, fatty acids and other vitamins. They contain minerals that are
iron, calcium, magnesium, phosphorus and potassium. These food components
assist in the functioning of hormones in the body. The amount of glucose and
insulin produced in the body is controlled by them. Since their digestion is slow,
they stay in the stomach for a long time, so you get the satisfaction of being full
by eating less. They are high in lecithin which strengthens the nervous system.

Its phytochemicals reduce the risk of cancer. Blood cholesterol is reduced. Whole

grains provide 12.5% more protein than wheat. Sava is used in liver disorders.

Since millets are gluten-free, they can be consumed by people with gluten

intolerance. In short, whole grains are useful for body health due to various

characteristics.

lehoose the one most reasonable fact that would weaken the above argument

if true.

(1) South Indians whose food mainly consists of rice, nachani, kuttu chana,
tur, udad do not suffer from digestive problems.

(2) Ifwheatis completely excluded from food, the person does not get B-vitamins,
zinc, bran, which are important elements along with gluten, and as a result,
the beneficial bacteria in the intestines are depleted and the immunity of
the intestine increases unbridled and rarely invites cancer.

(3) People with congenital celiac sprue cannot digest gluten in their small
intestine, so they have to eat foods where gluten is not detectable.

(4) Eating wheat is not inevitable as pulses, oil, milk, meat, fish, eggs,
vegetables, fruits etc. are consumed along with jowar, bajri, rajgira,
nachani, kuttu grains.
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(1) SDwmmmﬁé@fwﬁﬁwqﬁ—mﬁhWW.
(2) SD = W A et 3 e b -3l TRTR .
(3) T qd-3nRis TR SD = wrwrft BoarErdl WeaTed Fed AT

(4) wé gE-anfie R SD W wevrt AvarErd Meafa Fed TE.

There are security experts, as well as ex-fraudsters, who are experts in artificial
intelligence (Al). All people who are experts in Al are invited to join the team
of security designers (SD) by one organization.

Select one of the following that can be logically inferred based on the
statements above.

(1) All who are encouraged to join the SD team are security experts or
ex-fraudsters.
(2) Some who are encouraged to join the SD team are not security experts
or ex-fraudsters. 1% & l
(3) Some ex-fraudsters are encouraged to join the SD team. e et
(4) Some ex-fraudsters are not encouraged to join SD team. ’

. T, S 3 e 7w wE arg Gac. B ,GﬁanaTo.zs i u Y
BEAT 75 TR . I <
& A YOI Wt fee. N
(1) 700 (2) 600 (3) 550 (4) 450

Mina, Jiva and Faru share out a certain sum of money between them. Mina
receives 5/8, Jiva receives 0.25 and Faru receives Rs. 75.

Select options that indicates the original amount.

(1) 700 (2) 600 (3) 550 (4) 450

Q8L 117 TG (26 WIEll i WG e 9 S A1 HGATdIS e arar
15 4 16 3nft arech. A aiemm @<t wad 20 wHa Yo @@ a1 sEm e
9%~ aran ¥ B ot G qEEvI T e
%176 (2) 200 (3) 220 (4) 70
ile playing 11t match, a batsman is out for 26 runs, which raises his
batting average for the season from 15 to 16. Select the number of runs that he
should have scored in this inning to raise his average to 20 in this season.

(1) 176 (2) 200 (3) 220 4) 70
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(1) 180 A% A2) 190 ¥ (3) 200 ¥z (4) 210 ¥z
Ayesha beat Daya by 50 meters or 10 seconds in a kilometer race. Select the
option that indicates time taken by Ayesha to complete the race.

(1) 180 seconds (2) 190 seconds (3) 200 seconds (4) 210 seconds

QraA, A T Sy I T TGS AT T i Jeradre aqac
W NIEwiET SEER A 1)

a. fie v e, sremus anfh wdaTEd qreeE yETRa SR Semea sl

¥ amret yedts qred sifard s,

J SvmEreh srféass, wiqargel iy e e ann revm A wife auren sedty |
faremeff, srergs 9 wiEFEE Fafiae sHTe™ AEeE .

P gata quHA Ve TAUETETS AT=AT FEI T9R helel! TNTE, ATER, W67 AT

d. 3 Teddie Wi gatea dfveag s et O v = I

(1) a, b (2) b,c 3) ¢, d (4) b,d

A Director of educational institution claims : ‘instead of celebrating one day as
Republic Day, we constantly practice the ideals that made India a sovereign
republic by guarantying the pledge of justice, liberty, equality and fraternity’.
Choose two facts that support the claim.

Facts :

a. Itis compulsory for all students, faculty and staff of the institution to watch
televised display of military might of the country.

b. We conduct regular workshops for all students, faculty and staff with the
help of peace experts to deal with the hatred in a non-violent and peaceful
way.

c. We strictly implement the rules of dress, food, language and behavior
towards others, which are formulated by our organization to inculcate
spirit of equality among all.

d. We have integrated activities that nurture the value ‘empathy’ into regular
learning activities to enable everyone in the organization to respect the
diverse lifestyles of others.

(1) a, b (2) b,c (3) cd (4) b,d
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(1) ‘a’ M ' R 7AR ‘e’ H=AT=A O 3.

a9

(2) ‘e’ WARI B ‘a’ wA=ETeA ufimers TR, l
(3) ‘a’ W ' ‘¢’ wA=T=a qidmes
A4T o WA FETEdten wata qEeT . 2 Jf; _‘}’;'_"T__‘b

= '

In a housing colony, there are seven towers a, b, c,d, e, fand g. ‘@’ and F'ar
to the south of ‘d’ and ‘g’ and f’ is to the east of ‘a’. Tower ‘e’ is to the north
of ‘¢’ that is situated near the south end boundary of the colony and to the
west of ‘b’. There are only two towers ‘g’ and ’, to the east of ‘c’.

Select the statement that is always true with respect to given information.
(1) Towers ‘@’ and {’ are situated to the south of tower ‘e’.

(2) Tower ‘e’ must be to the west of tower ‘a’.

(3) Tower ‘@’ must be to the west of tower ‘c’.

(4) Tower f’ must be to the far east of the colony.
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(1) o (2 3 4

| Semy Loy ey L
0 2 a4 6 0 2 4 & 0 2 4 6 0 2 4 6
Length (m) Length (m) Length (m) Length (m)

Nanu wants to create a rectangular pond in his field. He has not yet decided on
the exact dimensions, but its length will be twice its width and will be between
2 metres and 6 metres inclusive. There will also be a strip of concrete of width
0.5 metres around the edges of the pond, as illustrated in below diagram which
is not to the scale.

Select the graph that best represents relation between the surface area of the
pond and the area of the concrete edge vary with the length of the pond.

[

E po NE po "E po E po
1) g 2) 8 3) 4) §
M %m()s RGN L /m
0 2 4 6% 0 2 4 6 0 2 4 6 0 2 7 &
Length (m) Length (m) . Length (m) Length (m)
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(1) 0 (2) 2

3) 3 4) S

My local park has a network of paths linking various locations, as shown in the
below image. The stars on the map represent five of the park’s landmarks : the
fountain, lake, music gallery, sculpture and play centre.

I often vary my routes and I do not always take the shortest route from one
place to another while walking around the garden. I have noticed that when I
go from the sculpture to the fountain, I always pass the music gallery, but that
going from the lake to the play centre, I never pass the fountain unless I pass
the music gallery twice.

Select the number of stars on the diagram that can be identified from the given

information.
E 3
(1) O (2) 2
(3) 3 (4) S
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24' 2? 26 79
Iy @ w

27 |. | 22 | | 31

P v

"_‘L" ?(

30 28

| es @S
(ﬁ 31 (2) 39 (3) 29 _(4) 33
g2

Select the légigal number for empty box in the following arrangement.

24 29 26

27 22 31

30 28

(1) 31 (2) 39 (3) 29 (4) 33

69. B uHid Y% gesh A WY U7 3R, C Ffiet Flel ueh A 7Y 3Rd. D AHfie TS Uk C 7Y 371
1 D el G e A T . @ e S g o v e s 7
_{1) C utiet w1dt aes B 7Y R4

A2 B i 3% gew C 74 AR .
(3) A utie ¥+ g B 3¥al C oY 3R @A
(4 cmﬂam_ang_wﬁan%a

Every element of B is an element of A. Some elements of C are elements of A.
Every element of D is an element of C but no element of D is an element of A.
Which of the following statements are impossible ?

(1) Some element of C is in B

(2) Every element of Bis in C

(3) Every element of A is either in B or in C

(4) Every element of C is in A
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14 T12 720
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(1) 63
(2) 69
(3) 71

A 74

1 day 2 day

Adult T12 T 20
Child T9 T 15
Concession* T7 T14 -
*Under 12 or over 55

Das family members : husband, wife, two children : ages 7and 13, and mother
of wife who is in her sixties, are going to the science park programme this
weekend. The parents will attend both days with the elder child but Mrs. Das’s
mother and the younger child will spend one day visiting relatives. Ticket
prices are listed in below table.

Select the amount spent by the Das family if they buy the cheapest tickets.

(1) 63

(2) 69

(3) 71

4 74
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71. 20 Wi sy mw FeAt IR, TS AN A Herda gata smka. oo @ AT
e fus w3t Qvarem faaraten we s gt e P
(1) 320 (2) 320 (3) 318 (4) 317
A question paper consist of 20 questions. There are 2 options for each question.
Select the number of ways it is possible for a student to attempt one or more

questions of the all given questions.
(1) 320- (2) 320 (3) 38 (4) 317

. &Ten IvarETd) ) o wes dew uETes A 8 ar 27 fufte ) 9o graaa #h. uh wae
A=t A 3 ffye e e wEE Rl SEeaea et B, fgaa smeem qen

v YB3 HEla A ag e,

(1) ween Juh 38 PR amda 427 wEren 17.75 fafae amga

(3) ummfﬁﬁ%;_(w%a (4) @& anE 27 fufwe gmeht smRa

/\ When I left for work, the watch was showing a time 8 hrs and 27 minutes
exactly. The position of the hour hand and minute hand of this watch is
exactly interchanged when I was back home. Select the option that is closest

to new time displayed.
(1) Exactly 33 minutes to six (2) 17.75 minutes to six

(3) 27 minutes to six (4) 27 minutes past six

73. =@ 31, &, fasim anfo s SehiqER e v e dee, e wata 3 staeH
yfeeht uft @ & faar o= v 39, quTfy Stegt o1 SETHER 1 TgdTd ISk 3T HEq ow|
g gfgeht i R @ fa gafd Iaee WM g, @1 R W SRAT SR TN A
fomren @@ st fremien Tam wEE st fae
(1) 3/ (2) faam (3) (4) oF

-3

When Anna, Bina, Ciona and Diana stand by height in a row, Ciona being
the shortest stands first while Bina comes to the third position. However,
when they stand by age, Anna being younger stands first while Bina occupies
extreme rear position. In both rows Diana remains at the second position.
Select the person who is immediate younger than Bina.

(1) Diana (2) Ciona (3) Bina (4) Anna
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B
44) (

Study the logic used for constructing image X. Identify option which cannot
be constructed along with dots using similar logic.

S
1)

X

N
I\
@ ( 8

@) Kb
e
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HTUR HAT T Fa! a0 foqe glawn 7 & giawn wem @@= o sEam.

Upanishads carry a weighty fable. Virochana, ruler of the Asuras and Indra,
Lord of the Suras, both once went to Brahma and asked him about God. They
were told to look in the mirror. Looking at his reflection Virochana instantly
concluded that he is God; Indra while looking at his reflection and spending
longer time in contemplation, realised that God was all. Some persons measure
development by the amount and material things that they can consume; some
persons measure their worth by all that they can uplift and divinise. The
difference is nothing less than that between an egocentric existence, engulfed
in its own gains, unhesitant to exploit, and an expansive one that is creative in
the highest sense of the world.

Select the most appropriate option that indicates central idea of the story.

(1) If Virochana had thought carefully while looking at the self-image, he would
have realized the truth. _

(2) To see one’s own reflection is to discover one’s own characteristics.

(3) Persons who are egotistical, selfish and involved in exploiting others for
that purpose live as ‘Asuras’, while those who deal with all others with open
mind using their own creativity and assist them in their own upliftment
and deification live as ‘Suras’.

(4) Some people measure their own development by the amount and material
facilities that they consume, while others measure their worth by uplifting
others by providing abundant facilities and divine pleasures.
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Decision making and problem solving questions no. 76-80.

76. TS s fanrs g sl 1 srEee Tl T SEE gE e S geA
@ e waerefie e, wmard a4 wfsarers sfverfera gt e anfr sravaes @ wnewEeE
T 7 T N AR, IS IS HEA HIRA Feet ade wam que 7t sreien Ad. anfreane
e afie Bvm JHeH R @1 vt qErn 2o s areeiegd aemft e
e it AR, w1 W fAewreh wrvamEd et S w7 fas = 7
(1) wfm Horerd 3y afimrh a0 Fom T areht smm qeE, daEe e

Forrd aftss rfrerTaTet SEEa T T 2uATETd AU .
2 HAEEEEE TaavE RUA 98 991 7 UTdad] S9a E Hoarardt anft Fereh
T T :
7ﬁ(3) TEHITET Y9 A 7 <A1 ASavgmardt gae Taehid Srihaisft 3rdeiet §9sh amade.
_\@) HIA WHTET WAFT TS Framorer et e Saen smal It wnfedt frssavarard
wEren qifedt sftreer Frfwcatsht g @me.

You are working for setting up a new business venture that requires a license
from State government regulatory department. You have submitted the
application for this purpose after fulfilling all the procedural formalities and the
required documents. Months have passed after submitting the application but
you are yet to get license. This delay is causing loss of business opportunity
than the amount demanded by a chain of persons working in the department for
granting the license. Which way would you choose for sorting out this problem
from following options ?

(1) Patiently try to convince any senior officer in the department for granting
the license as early as possible hoping that he might not expect illegal
gratification.

(2) For starting the business without wasting the time you will pay the
demanded amount as business investment.

(3) Use your contacts with any political worker to get the issue of license settled
without paying bribe.

(4) Contact some RTI activist to get information about the time frame in which
such license are required to be issued.
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(3) it safar=rren wffeudt @i g et fr@vda e an foen eavareh faedh
.

(4) wvETd fofa 3 9 saehien w1 I w1 T g fEd wa 'L

You are working as a head in the department that allots government quarters
to the employees as per the norms set up by the authorities. A group of persons
approaches to your reporting senior with the request that a particular person
should not be allotted quarter in their building, because the concerned person
is from the reserved category. Your senior suggests indirectly to accept their
request but at the same time also warns that you will be solely responsible
for the consequence of the concerned decision. Your promotion is due in next
few months. Which one of the following course of actions is your choice in this

situation ? .

(1) Since your promotion is due in next few months. You are left with no other
choice but to accept suggestion given by your senior officer.

(2) Allot the quarter to the concerned employee as per rules and alert the
person about the situation in which you have taken the decision about
allotment.

(3) Narrate this situation to concerned employee and request her to wait till
you get promotion.

(4) Not take any action and keep on requesting the person that she has to wait
for some more time.
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wirrE.

(4) e s Fwmd arEs = fied e T €@ JeE SEEeh TR,

Your colleague who was heading a project is suffering from some ailment
and cannot continue with it at least for next two months. The administrative
head of the department requested you to head this project in addition to your
present work. Since you are expected to complete your assignment and this
project within stipulated time, it will demand you to invest more time and
energy. What will be your response to this from the options given below ?

(1) Since your present assignment is keeping you completely occupied, it is

not possible for you to accept this additional work.

(2) Suggest the name of another colleague stating that she is more competent

for this work and her present workload is not heavy as yours.

(3) Accept the additional work without any argument as timely completion of

the project is necessary.

(4) You will accept the additional responsibility only if some manpower is

provided at least for some routine work.
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You are a freelancing journalist. Recently you read a novel based on documented
sufferings and exodus of people of minority tribe from certain region that
happened more than two decades ago. You are from this minority tribe. You are
very well acquainted with the realities of the exodus and the hardship faced by
people of both the tribes. In your opinion the author has used her writing skills
to emphasize how cruel were the victimizers towards your tribe. Thus novel has
succeeded in getting sufferings of your tribe acknowledged by people from larger
society. But you know that this is only the half-truth and it is agonizing you.
You will write articles to be published in different media to present.- -

(1) the position of the victims as sharply distinct from and as opposed to those
of their victimizers using selected authentic documents and gain empathy
from society at large with propagation stance.

(2) fact that though minority tribe got displaced, all misplaced, majority tribe
members were not perpetrators and both tribes were misguided by their
narrow minded leaders by using evidences of selected documents.

(3) fact that victimizers were also victims of daily hardship, tragedy, and
hopelessness along with the loss of rights and respect by using selected
documents.

(4) the reality by documenting how members of these two tribes are defining
themselves in relation to their respective narratives of victimhood after long
period of more than two decades for avoiding insurgence of hatred.
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As the education officer you are a member of the committee constituted for
interviewing teachers shortlisted for awards from the district. You are analyzing
their documents related to teaching learning processes and its impact on
learners’ personal and social development. As you are going through these
documents you are designing probing questions related to their work. You
came across a heavy file of technology savvy person but you did not find single
documentation of teaching learning process and its impact on the concerned
group of learners. For example, this teacher has written about how he delivered
e-self-learning material for learning poem Daffodils. You will ask him...

(1) With what purpose did you design e-self-learning material and how did
you test outcome of this learning ?

(2) You must have learned many poems during your school and college
education. What purpose did this poem learning served in your personal
and professional life ?

(3) Apart from reading and listening what other activities or experiences did
you design to make learners their ‘learning visible’ ?

(4) What activities did you design to examine ‘impact of learning’ this poem
on learners ?
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